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THE INSTITUTE OF BANKERS, BANGLADESH (IBB)
98th Banking Professional Examination, 2024
AIBB
Risk Management in Financial Institutions (RMFI)

SubjectCode: | 2 | 0 | 1

Time—3 hours

Full marks—100
Pass marks—45 i
[N.B. The figures in the right margin indicate full marks. Answer any five
questions. |
_ Marks
(@) Explain the ‘Risk’ considering activities of a financial institution. 6
(b) What is financial and non financial risk? What are the financial 7
risks in banking business?
(¢) Discuss the methods of identification of risk. 7
(a) What is Enterprise Risk Management (ERM)? 5
(b) How does ERM differ from traditional risk management? 7
(c¢) Discuss the steps of ERM implementation. 8
(a) Discuss the key elements of credit risk management? 6
(b) What are the 5Cs in analysing credit risk and why are these 7
important?
(c) Discuss the role of Credit Information Bureau (CIB) and Credit v
Rating Agencies in Credit Risk Management?
(@) What is risk diversification? 5
(b) What are the benefits of risk diversification? 7
(¢) Discuss the role of supervisory activities of Bangladesh Bank 8
in controlling risks of a bank. .
(a) What is risk appetite? 5
(b) Discuss the objectives of risk appetite. 7
(¢) Discuss the relationship between risk appetite and risk response 8
strategy of a bank.
(a) Discuss the role of Asset Liability Committee (ALCo) in risk 7
management of a bank.
(b) Discuss the importance of ‘Three Lines of Defense (3LoD)’ in 7
operational risk management.
(¢) How can effective corporate governance help to mitigate risk in 6
a bank?
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(@) “Systematic risk cannot be mitigated through risk
diversification.”—Please explain.

(b) Discuss the functions of Risk Management Division (RMD) of
your bank. _

(c) Discuss your role in risk management considering the risks of
your bank.

(@) Define the leverage ratio. What are the objectives of
maintaining leverage ratio?

(b) Based on the following information of ‘A’ Bank please
calculate the Liquidity Coverage Ratio (LCR) for 2019 and
2020, and make your comment on the adequacy of the ratios as
per the Basel III Accord.

(in crore Taka)

Description 2019 2020
High Quality Liquid Asset , 1265 1430
Average Monthly Withdrawal 594 550
Expected Monthly Net Outflow in 1100 1320
a stress scenario

(c) Based on the following information of ‘A’ Bank please
calculate the Leverage Ratio for 2019 and 2020, and make your
comment on the adequacy of the ratios :

(in crore Taka)

Particulars 2019 2020
Tier-1 Capital 3,500 2,750
Total Asset : 50,000 45,000
Total Leverage Ratio Exposure 165,000 60,000

Marks

Based on"the given information below of ‘X’ Bank answer the 5x4=20

following questions :

(in crore Taka)

Total Risk Weighted Asset (RWA) 45,500
Paid-up capital ' 1,890
Retained earnings 550
Non-repayable share premium account 150
Statutory reserve 1,300
General provision 1,100
General reserve 300
Perpetual bond 500

(a) Calculate Minimum Capital Requirement (MCR) with Capital
Conservation Buffer (CCB).

(b) Calculate total Capital to Risk-weighted Asset Ratio (CRAR).

(c) Calculate CET-I, Tier-I and Tier-II Capital Ratio.

(d) Interpret the results above against minimum regulatory
requirements of Bangladesh Bank.
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Marks

Write short notes (any five) : - 4x5=20-

(@) Interest Rate Risk (IRR)

(b) Capital Conservation Buffer (CCB)

(¢) Risk Mapping =

(d) Recovery Plan for Banks

(e) Risk Treatment

(H Key Risk Indicators (KRI)

(g) Executive Risk Management Committee (ERMC)
(h) CAMELS.
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